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Use the square root property to solve the equation.
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Add the proper constant to each binomial so that the resulting trinomial is a perfect square trinomial, Then facfor the
trinomial.
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Solve the equation by completing the square
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Use the quadratic formula to solve the equation.,
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Use the discriminant to determine the number and type of solutions of the equation,
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Find an equation of the line through the pair of points. Write the equation in the form Ax + By = C.

10) (9, -8) and (0, 3)

et 77 =

7 —(-3) 248

——— —

Y-8, = (=)

- #(v o)

_
7 X

- Fé

Df %f’/_./ . )ﬁg—//tia/ﬁ(ﬂ/) L4



